Algebra Revision

Exercise 1: Single Brackets

1.  Multiply out the brackets :-

(@) 2(b+4) (b) S(a+1) (¢) 8(d-06) (d) 9(1-g)

(e) 3(m+n) () Te-1 (g) 113+ (h) 30(x-3)

@ 3(6p+1) @) 56-4qg) (k) 8(1lx-T7y) M ab+7)

(m) g(h - 10) (n) x(6+x) (o) k(3e + 8g) (p) 4u(10u —v)
2. Multiply out the brackets and collect like terms :-

(a) 2(g+4+3 (b) 3(e+1)+6 (c) S(r+4)+2

(d) 6(u+2)-7 (e) Hp+2)-T7 (f) 3(s+6)-20

(g) 2(f+4)+8f (h) 9h+1)+h (1) 4(k+5)-3k

B o6(z+2)-2z (k) 1005 +¢)-3c M Tb+7(0+2)
3 Simplify -

(a) (m+2)+4m+1) (b) 3(b+2)+2b+4) (e) Ble+1)+3(c+06)

(d) 4k-1)+2(k+53) (e) 6(g-2)+3(g+4) (f) 2(a-6)+T@a+2)
4. Simplify -

(a) S(x+1)-2(x+2) (b) B8(x+2)-T7(x+2) (e) Hx+6)-3(x+T7)

(d) 4C2x+1)-3(x+2) (e) 7TBx+4)—4x+6) (f) 8(x+3)-06(x-1)
3. Simplify :-

(@) 9-20y+4) (b) 6-6(p-1) (¢) 8-(d -1)

(d) 7+6(h+2) (&) 2+9(2—¢) () 1221 i)
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Exercise 2: Double Brackets

Example 1: (x + 3)(x — 4)

X +3

X x> +3x

4| -4x -12
x+3)(x—-4)

=x?+3x—4x— 12

=x2-x-12

Example 2: (x - 2)(5-Xx)

X -2

+5 | 5x -10

x| -x7 |+2x

x-2)(5-x)
=5x— 10— x> +2x

=x2+7x-10

Expand the brackets and simplify :-
@ (x+5)x-2) ® O-Dy+4) (@ (a-20a+3) (@ (p+2)-1)

@ (m=5)m+3) (B (B+n)il-n) (&) (x+3

@ (e-2)3u+4) G (Bx+3)3x-3) (k) (Ta+1

Example 3: 2x + 1)(x - 3)

2x +1

x| 2x* | +x

3| -6x -3

@2x + D(x—3)
=2x>+x—6x—3

=2x2-5x-3

2x—1) (h) (a—4)5a+1)

a=2) O (4r-3)5r+2)

(m) (x+yNx+2y) (n) (x+yNx-2y) (o) (x—ylx+2y) (p) (x—yXx-2y)

(@) (a+b)3a+4b) (1) (2p+qlp-2g9) () (5+2¢)2+x) (0 (2-al(l-a)

@ (5-b)3+22)  (p-gdg+p) & (1-y)

1+ 9y) (x) (1-4k)(1-5k)

Calculate the area of each of these rectangles, in terms of the letters used -

(a)

(x+ 5 cm

(c)

(r+v)cm

Area =(x+503x+1)

(Bx+1em

(3x+¥v)cm

(b)
(2x—4) cm
(5r—3)cm
(d)
(3a +2b)cm
{3a —2B) cm



